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PHYSICS

The energy of the electro magnetic waves is of the

order of 15 keV. To which part of the spectrum does

it belong?

(1) y-rays (2) X-rays

(3) Infra-red rays (4) Ultraviolet rays

The refracting angle of a prism is A, and refractive

index of the material of the prism is cot(A/2). The

angle of minimum deviation is :-

(1) 180° - 2A (2) 90° - A

(3) 180° + 2A (4) 180° - 3A

A parallel beam of fast moving electrons is

incident normally on a narrow slit. A fluorescent

screen is placed at a large distance from the slit.

If the speed of the electrons is increased, which

of the following statements is correct ?

(1) The angular width of central maximum will
be unaffacted.

(2) Diffraction pattern is not observed on the
screen in the case of electrons.

(3) The angular width of the central maximum of
the diffraction pattern will increase.

(4) The angular width of the central maximum
will decrease.

There are four light-weight rod samples A,B,C D

separately suspended by threads. A bar magnet is

slowly brought near each sample and the

following observations are noted :-

(i) A is feebly repelled

(ii) B is feebly attracted

(iii) C is strongly attracted

(iv) D remains unaffected

Which one of the following is true ?

(1) B is of a paramagnetic material

(2) C is of a diamagnetic material

(3) D is of a ferromagnetic material

(4) A is of a non-magnetic material

The work function of a surface of a photosensitive

material is 6.2 eV. The wavelength of the incident

radiation for which the stopping potential is 5V

lies in the :-

(1) Infrared region (2) X-ray region

(3) Ultraviolet region  (4) Visible region
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If vectors A = cosot i + sinot j and

ot - ()] 3 i
B = cos;l + Sln?] are functions of time, then

the value of t at which they are orthogonal to each
other is :

b
(Dt=0 @ Y=g
T T

(3) t=5, 1=

The force 'F' acting on a particle of mass 'm' is
indicated by the force-time graph shown below.
The change in momentum of the particle over the
time interval from zero to 8 s is :-

64
3l
T 1
Z =T ¢ s
, —34
t (s)—>
(1) 24 Ns (2) 20 Ns
(3) 12 Ns (4) 6 Ns

A train moving at a speed of 220 ms™' towards
a stationary object, emits a sound of frequency
1000Hz. Some of the sound reaching the object
gets reflected back to the train as echo. The
frequency of the echo as detected by the driver
of the train is :

(speed of sound in air is 330 ms™!)

(1) 5000 Hz (2) 3000 Hz

(3) 3500 Hz (4) 4000 Hz

4.0 g of a gas occupies 22.4 litres at NTP. The
specific heat capacity of the gas at constant
volume is 5.0 JK™" mol™ . If the speed of sound
in this gas at NTP is 952 ms~, then the specific
heat capacity at constant pressure is

(Take gas constant R = 8.3 JK™ mol")

(1) 8.5 JK™' mol™

(2) 8.0 JK™' mol™

(3) 7.5 JK™' mol™

(4) 7.0 JK" mol™
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10.

11.

12.

13.

14.

The ratio of the radii of gyration of a circular disc
to that of a circular ring, each of same mass and
radius around their respective axes passing
through centre is :-

() V2 : 1 (2) v2:3
(3)¥3:4/2 4)1:42

Two vessels separately contain two ideal gases A
and B at the same temperature, the pressure of A
being twice that of B. Under such conditions, the
density of A is found to be 1.5 times the density of
B. The ratio of molecular weight of A and B is :

2
8 @ 3

Blw N

4
3) @ 3

The resistance in the two arms of the meter bridge
are 52 and RQ), respectively. When the resistance
R is shunted with an equal resistance, the new
balance point is at 1.6 £,. The resistance ‘R’ is :-

—i——
50 RQ
A B
L 100-1
(1) 10Q (2) 15Q
(3) 20Q (4) 25Q
The dimensions of (y,g,)"/* are
(1) [L T] o B

(8 [L¥T 4] @) LT

The additional kinetic energy to be provided to
a satellite of mass m revolving around a planet of
mass M, to transfer it from a circular orbit of radius
R, to another of radius R,(R, > R,) is :-

1 17 1 17
(3) Lo L~ 1) (4) GmM i3
s LRf R2
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15.

16.

17.

18.

A vertical spring with force constant K is fixed
on a table. A ball of mass m at a height h above
the free upper end of the spring falls vertically on
the spring so that the spring is compressed by a

distance d. The net work done in the process is:-

1. 1. 0
(1) mg (h—d) + EKd (2) mg (h+d) +§Kd

1 1
(3) mg (h+d) — §Kd2 (4)mg (h-d) - 5 Kd*
Two particles A and B, move with constant velocities
v, and V,. At the initial moment their position

vectors are 1, and T, respectively. The condition for
particle A and B for their collision is :-

fl_fz » 02_01
B R 5]
1 2 2 1

(1) E-% =9, -0,

3) {9, =1, ¥, 4) %V, =1, x¥,

A transformer having efficiency of 90% is
working on 200V and 3kW power supply. If the
current in the secondary coil is 6A, the voltage
across the secondary coil and the current in the
primary coil respectively are :-

(1) 300 V, 15A

(2) 450 V, 15A

(3) 450V, 13.5A

(4) 600V, 15A

An alternating electric field, of frequency v, is
applied across the dees (radius = R) of a cyclotron
that is being used to accelerate protons
(mass =m). The operating magnetic field (B) used
in the cyclotron and the kinetic energy (K) of the

proton beam, produced by it, are given by :

2
(1)B = “;“" and K = 2mn2v2R2
@)B = % and K = m2nvR2
3)B = % and K = 2mn?v?R?
2nmy 5 5
(4)B = and K = m*nvR
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1 2 1 2
(1) mg (h-d) + 5 Kd*  (2) mg (h+d) +5 Kd

2

1 2 1 2
(3) mg (h+d) - 5 Kd*  (4) mg (h-d) - 5 Kd

A U A 7 B fraa 90 A9 g, 99 0, ¥ i
F W § | Rfie & # 3T feafa wfew s §
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@ k=],

(1) -1,=V,-V,

() &9, =59,
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(1) 300 V, 15A

(2) 450 V, 15A

(3) 450V, 13.5A

(4) 600V, 15A
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2mmyv
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www.aviral.ac.in




19.

21.

22.

23.

The electric field at a distance 3?R from the centre

of a charged conducting spherical shell (hollow)

of radius R is E. The electric field at a distance

R
5 from the centre of the sphere is :-

E E
(1E (2) 2 3) 3 (4) Zero

A wheel has angular acceleration of 3.0 rad/sec” and

initial angular speed of 2.00 rad/sec. In a time of

2 sec it has rotated through an angle (in radian) of:

(1) 4 (2) 6 (3) 10 4) 12

Water rises to height 'h' in capillary tube. If the

length of capillary tube above the surface of water

is made less than 'h', then -

(1) water does not rise at all.

(2) water rises upto the tip of capillary tube and
then starts overflowing like a fountain.

(3) water rises upto the top of capillary tube and
stays there without overflowing.

(4) water rises upto a point a little below the top
and stays there.

A certain number of spherical drops of a liquid

of radius 'r' coalesce to form a single drop of radius

'R' and volume "V'. If 'T" is the surface tension of

the liquid, then :

2
r

(1) energy = 4VT[ J is released

| =
= T

+

- J is absorbed

(2) energy = 3VT(

i 1
(3) energy = 3VT(?—§'J is released

(4) Energy is neither released nor absorbed

The figure shown a logic circuit two inputs A and
B and the output C. The voltage wave forms across
A, B and C are as given. The logic circuit gate is:

(1) AND gate
(3) OR gate

(2) NAND gate
(4) NOR gate
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25.

27.

A circular disk of moment of inertia I, is rotating
in a horizontal plane, about its symmetry axis, with
a constant angular speed ;. Another disk of
moment of inertia I is dropped coaxially onto the
rotating disk. Initially the second disk has zero
angular speed. Eventually both the disks rotate
with a constant angular speed ©;. The energy lost
by the initially rotating disc to friction is :-

l lblt 2 li 2
D 20, +5) 2 2+ 1)

]b_It

i 2
@ [, +1,)

2
® 21"

In the energy band diagram of a material shown
below, the open circles and filled circles denote
holes and electrons respectively. The material is:-

E /=%

(1) an n-type semiconductor
(2) a p-type semicoductor
(3) an insulator

(4) a metal

A particle of unit mass undergoes one-dimensional

motion such that its velocity varies according to
v(x) = Bx 2"

where 3 and n are constants and x is the position

of the particle. The acceleraion of the particle as

a function of x, is given by :

(1) —20p2x ! (2) —2p%x~ 2!

(3) —2nplen+! (4) —2np2 2!

Ratio of longest wavelengths corresponding to

Lyman and Balmer series in hydrogen spectrum is:-

B %5
o @z

o 2 o B
3 53 ) 55
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29.

31.

32.

If the radius of a star is R and it acts as a black
body, what would be the temperature of the star,
in which the rate of energy production is Q ?
(o stands for Stefan's constant.)

(1) (4nR2Q/c)1*

(2) (Q/4nR?c)*

(3) Q/4nR%*c

(4) (Q/4nR2G)™2

Two particles which are initially at rest, move towards
each other under the action of their internal attraction.
If their speeds are v and 2v at any instant, then the
speed of centre of mass of the system will be :-
(1) v (2) 2v

(3) Zero @) 15v

The binding energy of deuteron is 2.2 MeV and
that of $He is 28 MeV. If two deuterons are fused

to form one 3He then the energy released is :-
(1) 25.8 MeV (2) 23.6 MeV

(3) 19.2 MeV (4) 30.2 MeV

One mole of an ideal diatomic gas undergoes a
transition from A to B along a path AB as shown
in the figure,

o
Plin kPa) 2 a
I 4 6
V(in m’) —»

The change in internal energy of the gas during
the transition is :

(1) =20 kJ (2207

(3)-12 kJ (4)20 kJ

A plano convex lens fits exactly into a plano
concave lens. Their plane surfaces are parallel to
each other. If lenses are made of different materials
of refractive indices p,; and p, and R is the radius
of curvature of the curved surface of the lenses, then
the focal length of combination is

2R R
1) (h —1y) (2) 2(py +4y)
R R
) 2(u; — ) “) (Hy = Hg)
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(1) 25.8 MeV (2) 23.6 MeV
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L e
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1 6
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34,

35.

A particle of mass M is situated at the centre of
a spherical shell of same mass and radius a. The
magnitude of the gravitational potential at a point

’ - - .
situated at 2 distance from the centre, will be :-

-GM -2GM -3GM -4GM
)= @ @)~ @ —

In the given circuit the reading of voltmeter V,
and V, are 300 volts each. The reading of the
voltmeter V, and ammeter A are respectively :

I & R=1000
000001 i} '
) Vi @) Vs
=)
\—y
220V, 50Hz

(1) 100 V, 2.0 A (2) 150 Vv, 2.2 A
(3)220V, 22 A (4)220V, 2.0 A
A square surface of side L metres is in the plane

of the paper. A uniform electric field E (volt/m), also
in the plane of the paper, is limited only to the lower
half of the square surface, (see figure). The electric
flux in SI units associated with the surface is :-

N e > P
(1) E L2/(2¢;) (2) E L2/2
(3) Zero (4)E L2

A parallel plate air capacitor of capacitance C is
connected to a cell of emf V and then disconnected
from it. A dielectric slab of dielectric constant K,
which can just fill the air gap of the capacitor, is
now inserted in it. Which of the following is
incorrect ?

(1) The energy stored in the capacitor decreases

K times.

(2) The change in energy stored is %CV2 [% - 1) .

(3) The charge on the capacitor is not conserved.

(4) The potential difference between the plates
decreases K times.
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35.

A M 1 T HUl, 3 S99 991 541 a
% T TIed Y & s 9 Feud 81 39 & &1

%qﬂmmwmmw&mw

HE B :-

-GM -2GM _ -3GM  -4GM
(1) 2 &) (4)

a a a a
& T uftwy & dieedfier v, 3R v, S & wigais
300 siiee BTl AieeHiel V, #R e A & gdis
HI: B

L C R=1000
100001 it Y
(3 v, @ Vi
()
4
220V, 50Hz

(1) 100 V, 2.0 A (2)150 V,22 A
(3)220V,22 A (4)220V, 20 A
L HieX 9T &1 U SR ¥as hITsl & g3 H feora
B T gte § fRAERT UE =R dgqa @7
E (diee/wiex) fost # e Srqar ot el < sheret

et erfomr & wife %1 901 @ wes Sgd woEd
SI Wikt | BN ;-

e > F
(1) E L%/(2¢,) @) E L2
() A (4) E L2

et war-ufze Guife &7 aiftar C %1 38 vea
V faga ares 9 & 9o ¥ Sigl 9§, R
a1 1 T Toran o § 1 sHeh v Wi Y |
gfgamell (W) & o= & T i T T e
% W (9g) ¥ qu W e s ¥ 3w werd
TeR K €1 39 guife & fad freafafed 3
HIE FIYT TE & € 2

(1) Henfer # wfed ot K T &9 & St 81

(2 s T o %C\iz[%—l) B ¥
(3) Wi 9T SMa9T 1 W& R A

(4) S < (afgasii) & o= favarw K 131 &9
B S R
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37.

38.

39.

40.

41.

A wave travelling in the +ve x-direction having
displacement along y-direction as 1 m, wavelength

1
27 m and frequency of e Hz is represented by :

(1) y = sin (2ax + 2nt)

(2) y = sin (x - 2t)

(3) y = sin (2nx — 2mt)

(4) y = sin (10mtx — 20m7t)

A projectile is fired at an angle of 45° with the
horizontal. Elevation angle of the projectile at its
highest point as seen from the point of projection, is:-
(1) 45° (2) 60°

= 1 1 ﬁ
(3) tan 2 (4) tan 2

A wire of resistance 12 ohms per meter is bent
to form a complete circle of radius 10 cm. The
resistance between its two diametrically opposite
points, A and B as shown in the figure, is :-

(1) 6Q2 (2) 0.6mQ2  (3) 3Q (4) 6nQ2

Which one of the following statements is true for

the speed ‘v’ and the acceleration 'a' of a particle

executing simple harmonic motion

(1) Value of a is zero, whatever may be the value
of v’

(2) When ‘v’ is zero, a is zero

(3) When ‘v’ is maximum, a is zero

(4) When ‘v’ is maximum, a is maximum

A block A of mass m, rests on a horizontal table.

A light string connected to it passes over a

frictionless pulley at the edge of table and from its

other end another block B of mass m, is suspended.

The coefficient of kinetic friction between the block

and the table is p,. When the block A is sliding on

the table, the tension in the string is :-

(mg“ukml)g mlmz(l'l"“-k)g

(1)

(m, +m,) (m, +m,)
mlmz(l_“k)g (mz +Mkm1)g
3) (m, +m,) (m, +m,)
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38.

39.

41.

YA (+ve) x-Toum # <l g8 fohelt 9l &1
y-feen ¥ fomams 1m, T 2n m Taen STt s

%Hz%lsﬁﬁfﬂﬁmﬁ'@ﬂwﬁﬁﬂ:-

(1) y = sin (2nx + 2nt)

(2) y = sin (x — 2t)

(3) y = sin (2nx — 2nt)

(4) y = sin (107x — 20mrt)

T TE S Afas § 45° & o ) gaf fw
T ¥, A 9 forg @ 2@ Q, 9de @ v fag
T IHHT I 191 B :-

(1) 45° (2) 60°

e 4B
(3) tan 2 (4) tan 2

12 3\ g Hiel @& Teh aR &l Aig L 10 95 5=
1 ek T ST T € | 55 oA o At faegadi,
A 3R B, 5@ fa= 1 gwiien €, & wex wfediy &1 9
-

(H6Q (20610 (3)3Q  (4)6nQ
forg o1 =1 =1e Wt ae Tfd ST B SEe A
v 3R @R o Tt e wmeA 8 | forae gend
HAT STE —

(1) v 1 91 %8 ft 81, a 1 741 I W

(2) S v I Bl a o I @

(3) 519 v SAf¥reRan B df a YA BAM

(4) 519 v AfeeRas g dl a off etfeemam g

T T[eh (=6feh) 'A' o1 SoHM m, © | 98 T Afast
TS O @ ¥ 1 39 B9 & fofrm o o suEie ot
i ¥, foresh SR ¥ ol g Tosh S (TR
w1 TH oA AT E | S’ & TR fR & m, oA
1 U I sl B e & | sler (2 ) a9 i
S of = TSt =Ief0T 0, | <, BT R sl (T[eT)
'A' fFge 99g S § G99 1 0E 86 -

mm,(1+p,)g
(m, +m,)

(m, —p,m,)g
(1) (m, +m,)

mm,(1-p,)g
(m, +m,)

(m, +p,m,)g
(m, +m,)
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42.

45.

In Young's double slit experiment, the slits are
2mm apart and are illuminated by photons of two
wavelengths A, = 12000A and X, = 10000A. At
what minimum distance from the common central
bright fringe on the screen 2m from the slit will
a bright fringe from one interference pattern
coincide with a bright fringe from the other ?
(1) 3 mm (2) 8 mm

(3) 6 mm (4) 4 mm

Two radioactive nuclei P and Q in a given sample
decay into a stable nucleus R. At time t = 0,
number of P species are 4 N, and that of Q are
N, Half-life of P (for conversion to R) is 1 minute
where as that of Q is 2 minutes. Initially there are
no nuclei of R present in the sample. When
number of nuclei of P and Q are equal, the number

of nuclei of R present in the sample would be :-

(1) 2N, 2) 3N,
9Ny 5Ny
8 @ =5

A galvanometer of resistance 50Q is connected
to a battery of 3V alongwith a resistance of 2950Q
in series. A full scale deflection of 30 divisions
is obtained in the galvanometer. In order to reduce
this deflection to 20 division, the resistance in
series should be :-

(1) 605002 (2) 4450Q2

(3) 505002 (4) 5550Q

If A, denotes the wavelength at which the radiative
emission from a black body at a temperature T K
is maximum, then :-

(1) A, is independent of T

(2) Ay T

(3) Ay, & T

(4) A, «<T*
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42.

45.

I % e feferd v § fafel (fel) & =
%1 g 2mm B 1 3R A, = 12000A eI
A, = 10000A TGS & Il & weIw (TehRTHTd)
fran e %1 9 farfiedi v wr gl 2m A, B
g fipe o fohat =gmom g0 TR, =Afaesor 9 Sca=
AT T it < RS Gt (TH R B SW)
=i 2

(1) 3 mm (2) 8 mm
(3) 6 mm (4) 4 mm
foret Soqet (Feeh) # <) ednfaea ifvs P @R Q,

&fa Breht, Teh Tl Afyek R H aftafda & < €
fFft ¥ t = 0 T, P & A 4 N, 3R Q & N,
T (R ¥ uftafda 29 & o) P =t o1 o1g 1 (7o)
e @R Q=1 2 () e T 1 wroey § Hvwre ()
H R & v Sufted @i ¢ 9 fesi 8 P @R Q
@ Rl 1 A SER T, T STH R AR

T GEA -

(1) 2N, (2) 3N,
9Ny 5N,

@) =5 @ —

50Q gfadiy & T gRE & 3V H a2l F 3™
e SireT T ' fR 2950Q w1 fedty 368 Svfiwn
A g1 1 3w feufa & ammrdt & 30 gt 1 g
e &1 fadro g & fasioo 1 20 gum &1 8
% fad Sofieen § wfadie &1 &1 8 -

(1) 60500 (2) 4450Q

(3) 5050Q2 (4) 5550Q2
Ifg @9 T K W T Fov fig & scafer fafewtor
srfersham aTeed A @, -

(1) T % 5o & A 7 e
(2) A, « T B
(3) A, <T'8m
(4) A, o T*=mm
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CHEMISTRY

46. The value of Planck's constant is 6.63 x 10-* Js.
The velocity of light is 3.0 x 10% ms~'. Which value
is closest to the wavelength in metres of a quantum
of light with frequency of 8 x 10" s :-

1) 2% 10> (2) 5 x 10°#
(3) 375 % 10° 4)3 x 107

47. The freezing point depression constant for water
is +1.86°C m . If 5.00 g Na,SO, is dissolved in
45.0 g H,0, the freezing point is changed by
—3.82°C. Calculate the van't Hoff factor for Na,SO,

(1) 2.05 (2) 2.63
(3) 3.11 (4) 0.381
48. Reaction by which Benzaldehyde cannot be
prepared :-
COOH
(1) 0 +Zn/Hg and conc. HCI
CH;
2 +CrO,Cl, in CS, followed by hydrolysis

COClI
(3) @ + H, in presence of Pd+BaSO,

4) @ + CO + HCl in presence of anhydrous AlCl,

Br
|
49.  The configuration of the compound nni H is
"
HC ¢l
(1) E (2) R
3)S 4z

50. Which one of the following does not correctly
represent the correct order of the property
indicated against it ?

(1) Ti< V < Cr < Mn : increasing melting points
(2) Ti < V < Mn < Cr ; increasing 2" ionization
enthalpy
(3) Ti < V < Cr < Mn : increasing number of
oxidation states

4) Ti**<V? < Cr'*< Mn®* : increasing magnetic

moment
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©®

46. i TETE 1AM 6.63 x 10734 Js. ¥ 1 YR &
A 3.0 x 10° ms™! T 1 HHAE HH § x 105 57 HT
AT ST FehTS o FieH Wik H aiieed & Hiee
¥
(1) 2 x 10 (2) 5 x 10-'8
(3) 3.75 x 10°* (4)3 x 107

47. -~ % femiw e feos® +1.86°C m™' €1 3
5.00 g Na,SO, &l 45.0 g H,0  sen < 8,
femier —3.82°C | Uit & <1 €1 Na,S0, & fad

df= B 1O ! TUMET Hifed :-
(1) 2.05 (2) 2.63
(3) 3.11 (4) 0.381

48. dSifeesens fog afufma § =& 99 o & -

COOH .
1) O +Zn/Hg & §iz HCI

CH,
2 +CrO,Cl, % CS, forere deee sid STqee

COClI
(3) @ + H,, Pd +BaSO, &t 3ufeafa #

@) ©+CO+Hc1ﬁsiaA1c13aﬁsrrrwﬁrﬁ

Br
49, i /l wnin H &1 SAfafa=mg T -
HC Cl
(H)E (2)R
3)S 4 Z

50. fr=fafed § s 33 9rA fafed e & %o
&+ AR Fareed T §?
(1) Ti < V < Cr < Mn : TTeHI% T Sgal %H
(2) Ti < V < Mn < Cr : f5dra emoma et &1
gl %A
(3) Ti < V < Cr < Mn : ETehIo srewenadi i
EEniliel

@) Ti** <V’ < Crt< Mn™ : grarenta el <61 sigelt
EX
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51.

52,

a3,

4.

55,

56.

One mole of an ideal gas at an initial temperature
of T K does 6 R joules of work adiabatically. If
the ratio of specific heats of this gas at constant

, B
pressure and at constant volume is — , the final

3
temperature of gas will be :-
(H(T-24K 2)(T+4) K
3 (T-4HK @®H(T+24 K

The electrode potentials for
2 —
Cu:(aq) + f._: —> Cu+(aq)
and Cu,, +e — Cug
are +0.15 V and +0.50 V respectively. The value

of B 2+/c, Will be -

(1) 0.500 V (2)0325 V

(3) 0.650 V (4) 0.150 V

Which one of the following sets forms the
biodegradable polymer ?

(1) HO—CH,—CH,-OH & HOOC@-COOH

@) @—CH =CH, & CH, =CH-CH = CH,

(3)CH, =CH-CN & CH, = CH - CH = CH,
(4)H,N-CH, - COOH & H,N — (CH,)s— COOH
Which of the following is not the product of

dehydration of OH ?

\
(1) (2)
5 O)\/ s O)\/

Four diatomic species are listed below. Identify
the correct order in which the bond order is
increasing in them :

(1) C,> < He," < 0,” < NO

(2) He; < 0, < NO < G,

(3) NO < 0, < C,” < He,"

(4) 0, < NO < C,* < He,"

In a face—centered cubic lattice, a unit cell is
shared equally by how many unit cells :-

(1) 4 2) 2 3)6 4) 8

AVIRAL CLASSES

CREATING SCHOLARS

51.

52.

53.

54.

55.

56.

feo T o feer emaas W fafyre somsti &

g ST aTel! Uah TSt 19 o1 Uah Hiel S 1ia

F 6R & FT H ¥ AR W B SEF A
T K &1, o Z9eh1 <™ arg 20 :-

(1) (T-24) K
3 (T-4K

(2)(T+4) K

4 (T+24 K
Cu2+(aq) +e — Cu+(aq)

M Cu'(yy +¢ - Cug

% fore seiegie fawe waer: +0.15 V a9 +0.50 V

E° .
¥ B 240, 1AM A
(1) 0.500 V (2) 0325 V
(3) 0.650 V 4) 0.150 V

1 8 | i Iy ST sgersh s
8?

(1) HOCH,—CH,-OH & HOOC-@—COOH

) @—CH =CH, & CH,=CH- CH=CH,

(3) CH, = CH - CN & CH, = CH - CH = CH,
(4) H,N — CH, — COOH & H,N — (CH,)s—COOH
frefafea § sF-91 3R,

OH @ fisicfieto 1 & § ?

=
(1) (2)
- O)\/ " O/j\/

IR fgamfess e = foe ™ €1 s wd %
I UEEH Hife 5w 3 37 974 %9 & 950 g
FHHE -

(1) C,~ < He," < 0,” < NO

(2) He; < 0, < NO < C,F

(3) NO < 0, < C,> < He,"

(4) 0, < NO < C,* < He,"

T HeTeh ahi-5d T4 Seteh § Ueh ge ol fohad
e el | IR 9§ JF AAH ¢ -

(1)4 )2 (3)6 “4) 8
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5.

58.

39,

60.

61.

62.

63.

Which has the maximum number of molecules
among the following ?

(1) 64 g SO, (2) 44 g CO,

(3) 48 g O (4)8 g H,

In a set of reactions m-bromobenzoic acid gave
a product D. Identify the product D

COOH
SOCI, ?
1B NH, N]a;(r)ll D
Br '
(A)
SO,NH, COOH
(1) (2
Br NH,
NH, CONH,
(3) @ 4) @
Br Br

Artificial sweetner which is stable under cold
conditions only is :-

(1) Saccharine (2) Sucralose

(3) Aspartame (4) Alitame

Which of the following does not give oxygen on
heating ?

(1) (NH4),Cr,04 (2) KCIO;4

(3) Zn(ClO3), (4) K,Cr,0,

A plot of log x/m versus log p for the adsorption
of a gas on a solid gives a straight line with slope
equal to :-
(1)-log K (2) n

@ (4) log K

pH of a saturated solution of Ba (OH), is 12. The
value of solubility product (Kgp) of Ba (OH), is:
(1) 4.0 x 1076 (2) 5.0 x 10°°

(3) 3.3:% 107 (4)5.0 x 107

The IUPAC name of the compound
CH;CH=CHC=CH is :-
(1) Pent-3-en-1-yne

(3) Pent-1-yn-3-ene

(2) Pent-2-en-4-yne
(4) Pent-4-yn-2-ene
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37,

58.

3.

61.

62.

63.

e formi sropell &1 we ifusay & 2
(1) 64 g SO, (2) 44 g CO,
(3) 48 g O3 (4) 8 g H,

afafshan & T Tg=ua § m-SHeigE o 9
I D U 2| 3G D &1 YgdH Siford

COOH

SOCI, , NH, . Naou

Br,
Br "
(A)

SO,NH, COOH
(1) @ @ @
Br NH,
NH, CONH,
(3) @ 4) @
Br Br

FHiAH gYTF & waa S yifeafa # & e

D

-
(1) TiA (2) gehred
(3) Terdn (4) tfaen

e & & 9w T W et e R 0
(1) (NH,),Cr,04 (2) KCIO,4
(3) Zn(Cl0Oy), 4) K,Cr,0,

T 38 W T T & Al & faw log p # fa&ss
log x/m 1 (e Teh et 1@ < ©, fat eam
AL Bl T :-
(1)-1log K (2) n

1
(3) = (4) log K

Ba (OH), % U& Hyw faera &7 pH &1 °3F 12 §
Ba (OH), & faera ToFwa (Kgp) T 71 §:-

(1) 4.0 x 10°° (2) 5.0 x 106
(3) 3.3 x 107 (4) 5.0 x 107
Afih CH,CH=CHC=CH %1 IUPAC ¥ ¥ :-
(1) ¥=-3-5-1-3TEA (2) T=-2-37-4-3TEA
(3) I=-1-2TEA-3-39 (4) T2-4-3AE-259
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65.

66.

67.

68.

69.

70.

s

Name the type of the structure of silicate in which
one oxygen atom of [SiO4]* is shared ?

(1) Linear chain silicate

(2) Sheet silicate

(3) Pyrosilicate

(4) Three dimensional silicate

XeF, is isostructural with :-

(1) BaCl, (2) TeF, (3)ICly (4) SbCl,
In a first order reaction A —— B, if k is rate
constant and initial concentration of the reactant
A is 0.5 M then the half-life is:

¢ In2 5 0.693
M k 2 0.5k

log2 log2
® k @) k+/0.5

pa and pg are the vapour pressure of pure liquid
components, A and B, respectively of an ideal
binary solution. If x, represents the mole fraction
of component A, the total pressure of the solution
will be.

(1) pg + X5 (Pg — Pa)

(3) pa+ Xa (Pp = Pa)

In the following reaction

(2) pg + x4 (Pa — Pp)
(4) pa + X5 (Pa — PB)

1.Mg, Ether
—_—
CJH;CH;Br — 725X,

The product 'X' is :-

(1) C¢HsCH,OH (2) CgHsCH;4

(3) C¢HsCH,CH,C¢H5 (4) C;HsCH,OCH,C¢Hs
Which of the following elements is present as the
impurity to the maximum extent in the pig iron ?
(1) Manganese (2) Carbon

(3) Silicon (4) Phosphorus
Copper sulphate dissolves in excess of KCN to
give

(1) CuCN (2) [Cu(CN), >~

(3) [Cu(CN), > (4) Cu(CN),

At 10°C the value of the density of a fixed mass
of an ideal gas divided by its pressure is x. At
110°C this ratio is :-

, 10 ) 283
M 170% (2) 3g3%
. 4 383
(3 x ) 355
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67.

69.

70.

71.

Tocfiche =1 S8 HLE & YohR &1 A9 g forad
[SiO, ]+ &1 T SRS TLAIY] WRRRT Ll § 7
(1) &g geen faefiae

(2) 9 foefiehe

(3) IEITaESe

(4) Tafeodta faferehe

XeF, 1 # 4 fFos a1 T € -
(1) BaCl, (2) TeF, (3)ICl;  (4) SbCl,
T geg-hife i sifuferar A—— B # afg k am
feorisn ® ot sifusds A #) yrfevs @
0.5M BT TE-3g T :

) In2 5, 0693
7y @) 05k

log2 log?2
() = @ o5

T eyl fg oi it foeras & fogrs @ s1amai, A aen
B & FHRI: p, TN pp AT ¥ | AR TS A H
HieT YHTST o1 x , § = foman i i farerad &1 s
HE RIS

(1) pg+ x5 (Pg — Pa)

(3) pa + Xa (P — Pa)
= erfuferan &

C(HsCH,Br — 3% ";‘_i',;‘i‘“ X,

(2) pg + XA (Pa — PB)
(4) pa+ X5 (pa — Pp)

IR X' ® -

(1) CH.CH,OH (2) CH.CH,

(3) CgHsCH,CH,C4H;  (4) C.H:CH,OCH,CHs
frafafed ael # ®F oR[Ed & ®9 # i smE

T waffess e 3 sufted 8 8 2
(1) Frtst (2) Hre
(3) Tafer=nta (4) BIERRE

HITT Hethe 1 KCN i Afeehar § g T f
o1 famfor Bren ® :-

(1) CuCN (2) [Cu(CN),]*-

(3) [Cu(CN), > (4) Cu(CN),

10°C W U 21yl i1 & f9d goram & 19 1 ¥ e
o1 1% & STl T 31T x 2, 110°C W39 T7urd
& OE B -

;) 10 5 283
() 170 (2) 3g3*%
: 4 383
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72,

78

74.

75.

76.

77.

A metal has a fcc lattice. The edge length of the
unit cell is 404 pm. The density of the metal is
2.72g cm™. The molar mass of the metal is :-
(N, Avogadro constant = 6.02 x 10> mol™)
(1) 20g mol™ (2) 40g mol™!
(3) 30g mol™ (4) 27g mol’!
Aniline in a set of the following reactions yielded
a coloured product 'Y’

NH,

N.N—dimethylaniline

NaNO,/HCI
(273-278K) " X

>»Y

The structure of "Y' would be :-
?H3 (;H“

(1) HN<O>-N=N<O>-NH
CH,

/ E
N=N N
(2) O-N-N<XDO)- oy

5 -
3) HN <O)»-NH~<O)>NH
4) H,c<0)-N=N<O)-NH

Among the elements Ca, Mg, P and Cl, the order
of increasing atomic radii is :-
(H)Cl<P<Mg<Ca (2)P<Cl<Ca<Mg
3)Ca<Mg<P<Cl 4 Mg<Ca<Cl<P
The correct order of increasing thermal stability
of K,CO,, MgCO,, CaCO, and BeCO, is:

(1) K,,CO < MgCO, < CaCO < BeCO

(2) BeCO, < MgCO, <K, CO < CaCO

(3) BeCO_1 < MgCO, < CaC03 < K_CO3

(4) MgCO, < BeCO, < CaCO, < K,CO,

Oxidation numbers of Pin PO3-, S in SO - and

. D
that of Cr in Cr, 05

(1) -3, +6 and +6 (2) 45, +6 and +6

(3) 43, +6 and +5 (4) +5, +3 and +6

In the reaction with HCI, an alkene reacts in
accordance with the Markovnikov's rule, to give
a product l1-chloro—1-methylcyclohexane. The
possible alkene is :-

are respectively :-

CH, CH,
(1) © (A) (2) @(B)
CH,
(3) (1) and (2) 4)
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73.

74.

75.

76.

3

T W fec STEH €| Uheh hIfo3HT o fHAR i
TS 404 pm. ¥ T F TAA 2.72 g cm™ B

¥Tg 1 HIeR TSIHME B -

(N, smarTs! feemies = 6.02 x 10? mol ™)
(1) 20g mol™ (2) 40g mol™
(3) 30g mol™ (4) 27g mol’!

wHifer ¥ frafafea sfufwnet & v agea 8§
T 3 'Y 9T & ®
NH,

NaNO,/HCI
(273-278K) X

Y' i G B i

cr ci
(1) HN<O)>-N=N~<O)-NH
CH,

/ "
N=N N
2) (O-N=N<O)- Aot

N.N-dimethylaniline Y
e e

Gy CH,
3) HN <O)>-NH~<O)-NH
@) H,c<0)-N=N<O)-NH

Ca, Mg, P @91 Cl, ac—oﬁﬁqur,ﬁwaﬂaamgan
HH -

()Cl<P<Mg<Ca (2)P<Cl<Ca<Mg
(3)Ca<Mg<P<Cl 4Mg<Ca<Cl<P
K,CO,, MgCO,, CaCO, @ BeCO, = 9gd €T
At feere =1 w& %A % -

(1) K,CO, < MgCO, < CaCO, < BeCO,

(2) BeCO, < MgCO, < K,CO, < CaCO,

(3) BeCO, < MgCO, < CaCo, < K,CO,

(4) MgCO, < BeCO, < CaCO, < K,CO,

PO3" HP I, s03" # S I a4 Cr,02" HCr
T SRR 37k HHA: © -

(1) =3, +6 T4 +6 (2) 45, +6 T +6

(3) +3, +6 TAT +5 (4) +5, +3 T4 +6

T Ueah A HC, | Afafshan ik AR % a9
& TR IS 13- | -Hfrerarsaeiiead St §
M Tl S

CH, CH,
0w oy
CH,
(3) (1) @ (2) (4)
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78.

79.

80.

81.

82.

83.

Benzene reacts with CH4Cl in the presence of

anhydrous AICl; to form :-

(1) Xylene (2) Toluene

(3) Chlorobenzene (4) Benzylchloride

Which one of the following is present as an active

ingredient in bleaching powder for bleaching

action ?

(1) CaOCl, (2) Ca(OCl),

(3) CaO,Cl (4) CaCl,

Which one of the following ions is the most stable

in aqueous solution ?

(1) Mn™ 2) o™

(3) V" 4) Ti**

(At. No. Ti=22, V=23, Cr=24, Mn=25)

Anincrease in equivalent conductance of a strong

electrolyte with dilution is mainly due to:-

(1) Increase in number of ions

(2) Increase in ionic mobility of ions

(3) 100% ionisation of electrolyte at normal
dilution

(4) Increase in both i.e. number of ions and ionic
mobility of ions

Which of the following is the most correct electron

displacement for a nucleophilic reaction to take place?

H H
@) HC~C = cQ

The stability of carbanions in the following:-

24
(@) R_c=C (b)

(c) R1C=8H (d) R,C—(?Hz
is in the order of:-

(1) (d) > (b) > (c) >(a)

(2) (a) >(c) >(b) >(d)

(3) (@) > (b) > (c) > (d)

(4) (b) > (¢) > (d) >(a)
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80.

81.

82.

fsfa AICI, =t Sufeafa & =1 CH,Cl1 & @19

srfufsman L o ¥ -

(1) SEef= (2) TgE

(3) FARISIA (4) SfFSTeaeIRES

fatsr fovan & fore fosin 9of & < v siwr =

w1 F foeme 2 § 9% fr=fafed § 9 == @

77

(1) CaOCl, (2) Ca(OCl),

(3) CaO,Cl (4) CaCl,

fr=fafed & @ #9 9 sraq sty faegT |

eiifues ot 872

(1) Mn™ ) cr*

(3) V* 4) Ti**

(9] |. Ti=22, V=23, Cr=24, Mn=25)

T Yoo o] ST9eed =1 qedish| derehdl § qqahTol

% WY gfg 1 7= HRO T -

(1) =i =1 9em | gfg

(2) 2Tl i et fasierar § gfs

(3) G qRT0T X fagd o=y &1 100%
S |

(4) SIAT Y T 3R AT T feeiierar, SH1 |
Ifs

TfimeE sfafFm e s @ e A sm @

T faeamoT Tl sy 9 ® 2

(c) R1C=5H (d) R_‘C—(EZ)HZ
THHEAHE o~

(1) (d) > (b) > (c) >(a)

(2) (a) >(c) >(b) >(d)

(3) (@) > (b) > (¢) > (d)

(4) (b) > (¢) > (d) >(a)
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85.

86.

87.

Identify the wrong statement in the following:

(1) Atomic radius of the elements increases as one
moves down the first group of the periodic table

(2) Atomic radius of the elements decreases as
one-moves across from left to right in the 2™
period of the periodic table

(3) Amongst isoelectronic species, smaller the positive
charge on the cation, smaller is the ionic radius

(4) Amongst isoelectronic species, greater the negative
charge on the anion, larger is the ionic radius

The straight chain polymer is formed by :-

(1) Hydrolysis of (CH,),SiCl, followed by
condensation polymerisation

(2) Hydrolysis of (CH;);SiCl followed by
condensation polymerisation

(3) Hydrolysis of CH;SiCl; followed by
condensation polymerisation

(4) Hydrolysis of (CH;), Si by addition
polymerisation

In which of the following equilibrium K and K,
are not equal ?

(1) 2C¢) + Oy == 2CO

2) 2NO(g) T Nl(g) Gl OZ(g)

) Soz(g) % NOZ(g) S03(3) * No(g)
(4) Hy + Ly == 2Hl,

D (+) glucose reacts with hydroxylamine and yields
an oxime. The structure of the oxime would be :

9H=NOH ?H:NOH
H—?—OH HO—?—H
HO—?—H HO—?—H
i H-C-0H
i AP =~ L—H ) .
HﬁqﬁOH H—?—OH
CH,0H CH,OH
FH=NOH FH=NOH
HO—?—H H—q—OH
H—?—OH HO—?—H
HO—-C —H Y
3) ; gy H-C=0H
H—?—OH H—?—OH
CH,OH CH,0H
AVIRAL CLASSES
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=1 & 9 o9 F99 F TREH Sife:

(1) S st o 9oq a1 § = &1 K 91 W
dedl i gAY e sedt €

(2) 3T diferet & fgdita oTed H del 1 9]
oo ol | <@ # SR 9 W e R

(3) TR Tteiisi § Y= 1 YATeHE s
e & = 2, smafe e s & %A
et

(4) TFseIaR T SRS | HOmEH 1 = foa
3feren BT ST SR fora Saet & St &t |

ST TgAH I B -

(1) (CH,),SiCl, & Sel-3T99ed & 390 o
ERNEIETE BTl

(2) (CH;);SiCl & STa-3{9ered & 3Wd o4
gD G

(3) CH,SiCl; % Ja-399ed & 390 d §oH
EEGEICTL -

(4) (CHy), Si = SieT- 31952 g ANTIcHeh Sgeteh [0l
U

srefiferferd @l § | fered K, a1 K, o | s

T €2

(1) 2Cy) + Oy == 2CO

(2) 2NOgg) == Ny + Oy

(3) 8Oy) + NOygy == 505 + NO

(4) Hy) + Ly == 2Hl;,

D (+) — T[ehIH, BIEg e THIT @ |19 fohen s
FitfrTs a1 ¥ iffrag #1 98 9 R

C[H=NOH (ITHZNOH
H—(‘:—OH HO—?—H
HO—(IZ—H HO—(IZ—H

.. H-C-0H

e @) .
HFC[~OH H—?—OH

CH,0H CH,0H

CH =NOH ?H=NOH
HO—?—H H—(%—OH
H—(ll—OH HO—(II—H
HO-C—-H i

3) I ) H (II OH
H—?—OH H—(l:—OH
CH,OH CH,OH
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88.

89.

90.

In the reaction

CH,

|
CH,~CH-CH,~O-CH,—CH+HI — 2% cveve.

Which of the following compounds will be
formed ?

CH,
CH,
(1) CH,~CH-CH,0H+CH,~CH,-I

CH,
CH,
(2) CH~CH-CH,~I+CH,CH,OH

(3) CH,~CH-CH,+CH,CH,OH
CH,

(4) CH,~CH-CH,OH+CH.CH,
CH,

Which of the following statements is not valid for
oxoacids of phosphorus?

(1) All oxoacids contain tetrahedral four
coordinated phosphorus

(2) All oxoacids contain atleast one P = O unit
and one P — OH group

(3) Orthophosphoric acid is used in the
manufacture of triple superphosphate

(4) Hypophosphorous acid is a diprotic acid

Which of the following complexes exhibits the
highest paramagnetic behaviour ?

(1) [Co(OX),(OH),]”

(2) [Ti(NH,)eJ**

(3) [V (gly),(OH),(NH,),]*
(4) [Fe(en) (bpy) (NH,),I**

Where gly = glycine, en = ethylenediamine and
bpy=bipyridyl moities)

(At. nos. T1 =22, V = 23, Fe = 26, Co= 27)
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AAfufewan

CH,
|
CH,-CH-CH,~O-CH,-CHAHT — T seusssssscn

H fma 8§ 4 & 9 A o ?

g,
(1) CH~CH-CH,OH+CH~CH 1

CH;
-
(2) CH,-CH—CH1+CH,CH,OH

(3) CH,~CH-CH,+CH CH,0H
CH,

(4) CH,~CH-CH,0H+CH CH,
CH,

IR & sAfufae) & ford f 3 9 s e
UG &l &2

(1) Tsft stfarefae # wqeher 4 TR STHeHaAts
TR B ©

(2) Ot TSI A FHAFA TH P = O Ife
3R TF P — OH 9 &ram ¥

(3) feust guiwehe & sararfis fafor o
ATRIERIe 37 1 3TEI fhan S 21

(4) TEARERRY o T fghifes sma §

=1 deel § 9 B W =9 TSI FaER
wefifd T 2

(1) [Co(OX),(OH),]

(2) [Ti(NH,)]**
(3) [V (gly),(OH),(NH,),]*
(4) [Fe(en) (bpy) (NH,),I**

&l gly = glycine, en = ethylendiamine 2%
bpy=Dbipyridyl moities)

(o] wead Ti =22, V = 23, Fe = 26, Co= 27)
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91.

92,

93.

9.

95.

BIOLOGY

Which one of the following is wrong about Chara ?
(1) Upper oogonium and lower round antheridium.
(2) Globule and nucule present on the same plant.
(3) Upper antheridium and lower oogonium
(4) Globule is male reproductive structure
Which one of the following organelle in the figure
correctly matches with its function ?

(1) Rough endoplasmic reticulum, protein
synthesis

(2) Rough endoplasmic reticulum, formation of
glycoproteins

(3) Golgi apparatus, protein synthesis

(4) Golgi apparatus, formation of glycolipids

Which one of the following statements is correct?

(1) Tapetum nourishes the developing pollen

(2) Hard outer layer of pollen is called intine
(3) Sporogenous tissue is haploid
(4) Endothecium produces the micorspores

The incorrect statement with regard to

Haemophilia is :

(1) Only single protein involved in the clotting
of blood is affected

(2) It is a sex-linked disease

(3) It is a recessive disease

(4) It is a dominant disease

The diagram shows an important concept in the

genetic implication of DNA. Fill in the blanks

AtoC:

@Ai)mRNA Lproteinﬂ%‘“’y-

(1) A—translation B—extension C—Rosalind
Franklin

(2) A-transcription B—replication C—James
Watson

(3) A-translation B—transcription C—Erevin
Chargaff

(4) A—transcription B—translation C—Francis
Crick
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Frr s fawg ¥ frafafed § @ =9 @ oW 82
(1) Sl TeurT iR freet e gur |

(2) TS SR RS Hi T & WY F sufuf
(3) S gumT IR et sty |

(4) T R YA WA B

fozr # frefefen & @ SF- 2 o % &
qE-ue oo 7 2

(1) % TErentegs eqherd, TeH-averyu
(2) T% UEIAoHeE Hehed, TemgehIeHl o1 s
(3) Tfes SUHTYT, WGl

(4) TieSt IYHTT, TATEHRIfATTS! 1 Sl

Frfofea & @ e waT 98§ 2

(1) e ol & T& TXATHUI < OISO &

(2) TR 31 STET A STETU 37 At (=1e)
FHEer €

(3) <Y S 3wk ST e ©

(4) sTreifomm AeEsY] Seq=1 it Sl

EHIfRfe & N T TToa FeH FE-T 72

(1) ®ftR-whed § ffed sae uw deH gt gt
®

(2) 78 T fem-weem I B

(3) ¥% TH rgeret T ¥

(4) T8 TH gorat AT 71

fean o s@ DNA & ey foem &1 &

HEEqUl Heheddl gl 1 s T (A | e C

) I g e

@A A S mRNA _B_s gty FR TSR

C
(1) A—2raeivH B—famar C-sifer Wehfem
(2) AT B-gfashdia C—S 9 sTedd
(3) A-ZTHRT B—31gere C—3ifad =i
(4) A-3TIEH B-ZEee C-ifaw foheh
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96.

9.

98.

99.

100.

101.

Both, hydrarch and xerarch successions lead

to:

(1) Excessive wet conditions

(2) Medium water conditions

(3) Xeric conditions

(4) Highly dry conditions

In Kranz anatomy, the bundle sheath cells have:

(1) Thick walls, many intercellular spaces and few
chloroplasts

(2) Thin walls, many intercellular spaces and no
chloroplasts.

(3) Thick walls, no intercellular spaces and large
number of chloroplasts.

(4) Thin walls, no intercellular spaces and several
chlorplasts.

In human female the blastocyst :-

(1) gets implanted into uterus 3 days after
ovulation

(2) gets nutrition from uterine endometrial
secretion only after implantation

(3) gets implanted in endometrium by the
trophoblast cells.

(4) forms placenta even before implantation

Variation in gene frequencies within populations

can occur by chance rather than by natural

selection. This is referred to as :

(1) Genetic load

(2) Genetic flow

(3) Genetic drift

(4) Random mating

Approximately seventy percent of carbon-dioxide

absorbed by the blood will be transported to the lungs

(1) as bicarbonate ions

(2) in the form of dissolved gas molecules

(3) by binding to R.B.C.

(4) as carbamino - haemoglobin

Besides paddy fields, cyanobacteria are also

found inside vegetative part of :

(1) Psilotum (2) Pinus

(3) Cycas (4) Equisetum

AVIRAL CLASSES

CREATING SCHOLARS

96.

97.

98.

99.

100.

101.

AR T YRR, STRMAT ST AU § 3T : sl

Tyt faemfaa Bt § 2

(1) sTcafyss Sefa g

(2) HEAY Selrg qEMY |

(3) Yok <9 |

(4) sTafas e I

Shel IR T YoTrees, (Sieel ¥ie) shifvennd S5 3 T 2

(1) TSt fufai arelt, 3Te STaeITeTeh I Tend a=1
912 ¥ TN B T

(2) Tael fafmal, ere SR 3iaue 2 €,
AT FARTE TEl Bl B

(3) e fufrat 2t ¥, SiaeanifrnTa iatet T 2,
T FARNTIRE ogd 91 B ¢

(4) el Tt arett, sTien STavehIfiTe 1= ST =T
B, T FARAE g 91 214 B

g HEl § sereifae & favg | freafafas 59

H 9 T o9 el © -

(1) ¥ TSRt & 3 fe7 a1 eier & oimifua & < s

(2) Saa aifyd & 91 & 9% @ 9% denfzaa
S & YT 9w w

(3) T tSrifeaw # drwe HIfveEl & gr
STeRifaa 2 &

(4) 359 AU (WRIT) T S SR BN F Teed
& Ao

TH THfte & 3 S sgfadl | fa=ar am |

Bt € ST Thfas RO B R 39 fEwes faw

Hefid foran <ar @ :

(1) STIARTF A

(2) SAferh wET

(3) st faeem

(4) Fgfs® T

W g ST oa e SEFEe &1 AT

70 WA ST 1 HHS! dh UEe S o §

(1) IEHEHS ST H ®Y H

(2) 9 & amsit @ et g orew §

(3) ST T HORIel | SYA il

(4) SrETHE - SHErEfeE B W@

et efia Serer (T Sl am el $ s

foras Fifaes 9 & 1=y ot 9 WY § 2

(1) @iy (2) 77T

(3) rFFg (4) FFEIGIeT
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102. Which one of the following cellular parts is

correctly described ?

(1) Ribosomes - those on chloroplasts are larger
(80s) while those in the cytoplasm are smaller
(70s)

(2) Lysosomes-optimally active at a pH of about
8.5

(3) Thylakoids-flattened membranous sacs
forming the grana of chloroplasts

(4) Centrioles - sites for active RNA synthesis

Examine the figures (A-D) given below and select

the right option out of 1-4, in which all the four

structures A, B, C and D are identified correctly:-

Structures :

103.

(1) | Runner
(2) | Offset

Archegoniophore | Synergids Antheridium

Antheridiophore | Antipodals | Oogonium

(3) | Sucker |Seta Megaspore

mother cell

Gemma cup

(4) | Rhizome

104.

Sporangiophore | Polar cell | Globule

Which one of the following represents a
palindromic sequence in DNA ?

; 5'-CATTAG-3' . 5'-GATACC-3'
1 3'- GATAAC-5' ) 3'-CCTAAG-5'

5'-GAATTC-3' " 5'-CCAATG-3'
3 3'-CTTAAG-5' ) 3'- GAATCC-5'

105. Which one of the following is a non - reducing
carbohydrate ?
(1) Maltose

(3) Lactose

(2) Sucrose
(4) Ribose 5 - phosphate
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102. TrAfafEd § 9 HH 9 T HIRMH T 97 61 Tl Fui=

fem T ® 2

(1) TEHE-FAN@RR] T 29 a1l 512 (80s) &
A WEEreH 29 9t B (70s) & B ©

(2) ARHETT-TT 8.5 pH T Faiaad: iwd

(3) TRCiRisEH-=Te fHeeion det S Tvem fieret
FARE & I 5§

(4) Sfdied (qR %) - 9T RNA 99000 &
LG

= fed 7 fosit (A-D) =1 Sitg wifee iR fe &

1-4, fashedl & o7 wF faswey gfe foawd gt =i

T A, B, C 91 D &l © -

103.

A B C D

(1) | SuReyErt | SfiumeR | SerEenifere | gaf

() |vafE | guiER w=iieew | sfeur

(3) | A | S ERCIELL O Rt e
g I

@) |w=g Eeesici el ke

104, frafafeq A8 fFETE TDNA & id foemrgsns
ST TN T 7 ?
5. CATTAG -3 5.~ ATACT -3
M 3_garaac-s @ 3.ccranG-s
5'«IGAXTIC -3 5'- CCAATG - 3'
@ 3 _crraac-s @ 3.gaarcc-s
105. TrefafEd 3§ H 9 UF 3F-3099 FeEEee
?7
(1) A (2) RIS
(3) TS (4) TSNS - 5 - THIThS

www.aviral.ac.in




106.

107.

108.

109.

Which one of the following is most appropriately

defined ?

(1) Amensalism is a relationship in which one
species is benefited where as the other is
unaffected.

(2) Predatoris an organism that catches and kills
other organism for food.

(3) Parasiteis an organism which always lives inside
the body of other organism and may kill it.

(4) Host is an organism which provides food to
another organism.

Nitrifying bacteria :-

(1) Oxidize ammonia to nitrates

(2) Convert free nitrogen to nitrogen compounds

(3) Convert proteins into ammonia

(4) Reduce nitrates to free nitrogen

Jaundice is a disorder of :-

(1) Skin and eyes (2) Digestive system

(3) Circulatory system (4) Excretory system

The four sketches (A,B,C and D) given below,

represent four different types of animal tissues. Which

one of these is correctly identified in the options given,
along with its correct location and function ?

@A)

(D)

Tissue Location | Function

(M

Smooth
muscle tissue

Heart
contraction

Heart

@)

Secretion and
absorption

Columnar
epithelium

(A) Nephron

3)

Glandular
epithelium

Intestine | Secretion

(B)

“)

Attach skeletal
muscles to
bones

(C) | Collagen cartilage

fibres
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frafafea 4 9 foa us =) gaifus sfea w9 d

ftnfer feen T & 2

(1) THEfer=7(1iifsTan) o Geie & fored uan witeis
1 T UgTd § St gudt Tgvifad W ¥

(2) Tye o e Bian & s fonet 371 Sfte =l e
fIeF & foT yehgar 2R AR S §

(3) Toal 9 Sid el & S 9ed 3 Saud &
IR & +fic e € 3R SHeR! T 1 RO 57
T H

(4) LAt I SHaER S § S S S S e
TS A &

TMESIh R eI ;-

(1) A =1 TEee # Sq=E #d §

(2) o SIS ! geiorH AlfiTent H aRafid s &

(3) W =1 s § giefdd w9 €

(4) TEE HT AYFIA F AELSH b F §

diferan ("Sifew) o forai e o o Yer g e ?

(1) o= aen e (2) 9= o

(3) 9ftE=r o (4) SoasH T

= fe@ T =R f=5 (A,B.C @21 D) H, 91 TSR

= Jot ek femme e E | T 9 R @ e

f&d o foedt # ¥ W& TEEE TN UE 3Eh U

S T T Aqen ot we ey #2

£

(N [ D)

2 [(A)

(3) | (B)

@) | (C) | Frerm W | Swfew | weprena AfEE
&gdi & Wy
S B
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110. Given below is the representation of the extent

of global diversity of invertebrates. What groups
the four portions (A-D) represent respectively :-

2
V

Options :
A B C D
(1) |Insects Crustaceans e Molluscs
groups
Other
(2) [Crustaceans |Insects Molluscs animal
groups
(3) |Molluscs s animal Crustaceans |Insects
groups
Other
(4) [Insects Molluscs Crustaceans |animal
groups
111. Read the following five statements (A — E) and

112.

113.

answer as asked next to them :-

(A)In Equisetum the female gametophyte is
retained on the parent sporophyte

(B)In Ginkgo male gametophyte is not
independent

(C) The sporophyte in Riccia is more developed
than that in Polytrichum

(D) Sexual reproduction in - Volvox is isogamous

(E) The spores of slime molds lack cell walls

How many of the above statements are correct ?

(1) Four (2) One

(3) Two (4) Three

During mitosis ER and nucleolus begin to

disappear at :

(1) Early prophase

(2) Late prophase

(3) Early metaphase

(4) Late metaphase

Both, autogamy and geitonogamy are prevented

in:-

(1) Castor

(3) Papaya

(2) Maize
(4) Cucumber
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STRIIED] i Afvaeh Sra fafarerr =1 SuTfas fawm
= fean T ¥ 1 =R wE (A-D) fow @ wfaffee

A ¥ -

o

(€]
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2

Hie

(€)

HieTeh

311 YT W | shefemn

“

= qToft
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e
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111.

112.

113.

= fou e ufE e (A - E) i 9feu 2R S/ s e

GTI'?IWW%,WW =

(A) SFIHIEH |, HIST TGS ST S-S54
T a1 @l §

(B) fSishi § R graehIgfag Toasl el ol

(C) fifoaan =1 diw -3 fae dides®q &
sremy-sefue 1 o § eifue faswfaa dar &

(D) sifesiierd & <ifiTeh JoF" GHETHHT Bl §

(E) TogH Hiegd o siremupeii # sifsrent fufa & it

ITE He H W fora wET ® 2

(1) = (2) Th

@) (4) T

A (FEa9s) & SR ER a9 =Jfraeiierd

(faeh) foFg steen W foefa 89 sRY & S €2

(1) STRf Grhst

(2) &g T HIhsl

(3) IRF Herhst

(4) 91T 1 H2hs

TIHITYA G GG, ST &t o weh 8 e

a1 3 s ?

(1) 3=t

(3) T

(2) TR
(4) T
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114. The figure below shows three steps (A,B, C) of
Polymerase Chain Reaction (PCR). Select the
option giving correct identification together with
what it represents?

Region to be amplified

S '

A3l||||]||||||||||5'dSDNA
; . )
T T T T T T T T T ]

B 33
VBRI

!

| | N | |
5 3

e

5!
PRI | |

Options :

(1) C-Extension in the presence of heat stable
DNA polymerase

(2) A-Annealing with two sets of primers

(3) B-Denaturation at a temperature of about 98°C
separating the two DNA strands

(4) A-Denaturation at a temperature of about 50°C

115. A species facing extremely high risk of extinction
in the immediate future is called :-
(1) Vulnerable
(2) Endemic
(3) Critically Endangered
(4) Extinct
116. When domestic sewage mixes with river
water :-
(1) The increased microbial activity releases
micro-nutrients such as iron.
(2) The increased microbial activity uses up
dissolved oxygen.
(3) The river water is still suitable for drinking
as impurities are only about 0.1%
(4) Small animals like rats will die after drinking

river water.
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114. == fod =1 w@ fox ° deims == {UE (PCR)
= 9 =01 (A,B, C) fewm wu ¥ fFafafea # @
e = faseq § & =0 &1 (899 W&l Tgar

T 2
e fepan s aren &
5' 3!
A TTLEETT T T TTE P[] _dsDNA
3 5
3 l 3!
[TTTTT D] |
B 3 5
5 3
HEE NEREREERENE
3 l 5
5- 3!
||!|IIIIIIIIII|
C 5 3
3 5'
g —|I|IIIIII||5.
fasey
(1) C-amaEart DN A diefmis 1 Sufeafa & faearo
(2) A9EH &% q T H Ty T
(3) B-a 98°C & arqaE W o @
DNA T9® 9% & T
(4) A-TFT9T 50°C o TaHH W ferepa
115. % wfa, s e ufass ¥ faevm & =9 sifem
T SHAT T G HL & SY A Hel S 2
(1) g9
(2) Tt
(3) T~ HehaI=
(4) fasirg
116. <& =] Hiasl (Heasa) F&1 & 9 | 51 frer &

T 1 B © 2

(1) 9Ig T Gewsiara Hishad ¥ Yeaueh 1 S
o e (i) o1 fomiem e @

(2) 9g T Geusiietg Wi ¥ Yol gg silerieH
TR & S §

(3) 7 F S T ff 91 & A Suge 9
T Fiifeh RIGAE W 0.1% & T & Bt
?

(4) 9% S B W & & Sel i e 7Y S

www.aviral.ac.in




117. Study the pathway given below : 117. = <@ e wigd (femmnt) &1 srergm wifsw

In which of the following options correct words frfafaa & & forw fospea & @oft o A, B den
for all the three blanks A, B and C are indicated? C i =l & fad wdt v <wid e €2
A B C A B C
(1) | Fixation Transamination | Regeneration (1) | 2 R greGHe
(2) | Fixation Decarboxylation | Regeneration (2) | AR SIRTel TR USSRkl
(3) | Carboxylation Decarboxylation | Reduction (3) | preiferarcer SIS | ST
(4) | Decarboxylation | Reduction Regeneration (4) | S | ST qrEcyE
118. Fructose is absorbed into the blood through | 118. RIS T TSI ST & YoTsHT hIf¥TRIst § ¥ S
mucosa cells of intestine by the process called : wa # frw feafafy & gro & &2
(1) active transport (1) gfsra aftes
(2) facilitated transport (2) garea gftere
(3) simple diffusion (3) I famo
(4) co-transport mechanism (4) e qftee fwafafy
119. Choose the correctly matched pair :- 119. & faam 9@ S &1 g & -
(1) Inner lining of salivary ducts — Ciliated y
epithelium (1) @R e T SATafeh ST — qemHt Sqshel
(2) Moist surface of buccal cavity — Glandular "
epithelium (2) 9@ T[feehT &t 79 e Ufaa Sushen
(3) Tubular parts of nephrons — Cuboidal
epithelium (3) T & AfTHTHR AT — SAHR ITher
(4) Inner surface of bronchioles — Squamous p
epithelium (4) YIElEH T SATANE Tde— IeHh! U
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120.

In which one of the following, the genus name,
its two characters and its phylum are not correctly
matched, whereas the remaining three are correct?

120.

Trafafed # 9 fog te § s S99 T, 396
fafersediaii aon sHS wEad 1 Teid o 79 §
Seifer 99 T W ¥ ?

Genus Two characters Phylum S| A < wEro T
Name
. . (1) | 7= (a) fogerdt TR
(1) | Sycon (a) Pore bearing Porifera (b) et =
(b) Canal system
(2) | Peripla- |(a) Jointed appendages Arthropoda (2) (i) “ﬁmﬁ Wf : A
neta (b) Chitinuous exoskeleton (b) .
(3) | Pila (a) Body segmented Mollusca (3) | T (a) 3T w5qH Gl
(b) Mouth with Radula (b) tgen & I q@
(4) | Asterias | (a) Spiny skinned Echinoder- (4) | St | (a) WW _ TFEAISHE
(b) Water vascular system |mata EEEEIREIE
121. Selaginella and Salvinia are considered to | 121. S9N S € fo o<l a7 & fawra & feiforerasn

122.

123,

124,

represent a significant step toward evolution of

seed habit because :-

(1) Embryo develops in female gametophyte
which is retained on parent sporophyte

(2) Female gametophyte is free and gets
dispersed like seeds.

(3) Female gametophyte lacks archegonia

(4) Megaspores possess endosperm and embryo
surrounded by seed coat.

The enzyme recombinase is required at which

stage of meiosis :

(1) Pachytene

(2) Zygotene

(3) Diplotene

(4) Diakinesis

In plant breeding programme, the entire collection

(of plants/seeds) having all the diverse alleles for

all genes in a given crop is called :

(1) germplasm collection

(2) selection of superior recombinants

(3) cross - hybridisation among the selected parents.

(4) evaluation and selection of parents

Biolistics (gene-gun) is suitable for :

(1) Constructing recombinant DNA by joining
with vectors

(2) DNA finger printing

(3) Disarming pathogen vectors

(4) Transformation of plants cells
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122.

123.

124.

FIfeaf=97 U Hecaqvl =101 Sy §, H sHie

FHife

(1) 4o ret fiereRe 8§ fawfaa S & st S
TIRIEIEE W & &1 &l B

(2) et eIz WA B § 9SSl sl Wwe
gifare 2 S 2

(3) T e § Sl @

(4) TEsitenuEt # yordrs qen g 2 T S S =
¥ R & ©

ferframs wse stesh favrsm &t fofm eraen

# ravas &2

(1) Uefife (Teere)

(2) STEMEA (FrHg)

(3) fewiifer (fgag)

(4) SEHEAET (TRIaHT)

-t T 5 foret e = et i & fafay

eArell & Tehal TRy (diedi/afsii &) = Fad © ;

(1) S e (SHSH) U89

(2) 93 YAANTS 1 =

(3) =Afd SRl & W™ q-HHIo

(4) Shi 1 Hedih T A

rifefesy (SiH Maen) feas fag sugw g?

(1) Hargeh! & WY SghT GAMTS] DNA T 94 |

(2) DNA frm fufém|

(3) WIS Harehi i Fftera

(4) UIEH RITITERTSA ST FUFO |
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125.

Match the following and select the correct
option :-

(a)

Earthworm @)

Pioneer species

(b)

Succession Detritivore

(i)

()

Ecosystem service | (iii) | Natality

(d)

Pollination

Population growth

(iv)

126.

127.

128.

129.

(a)
(1) @)
(2) (iv) (@)
(3) (i) (i) (iv) (i)
(4) (ii) (i) (iv) (iii)

dB is a standard abbreviation used for the

(b)
(ii)

(c)
(iii)
(iii)

(d)
(iv)
(i1)

quantitative expression of :

(1) A certain pesticide

(2) The density of bacteria in a medium

(3) A particular pollutant

(4) The dominant Bacillus in a culture

At which stage of HIV infection does one usually

show symptoms of AIDS :-

(1) Within 15 days of sexual contact with an
infected person.

(2) When the infected retro virus enters host cells.

(3) When HIV damages large number of helper
T-Lymphocytes.

(4) When the viral DNA is produced by reverse
transcriptase.

A fall in glomerular filtration rate (GFR)

activates:

(1) adrenal medulla to release adrenaline
(2) posterior pituitary to release vasopressin
(3) juxta glomerular cells to release renin

(4) adrenal cortex to release aldosterone

Injury to adrenal cortex is not likely to affect the

secretion of which one of the following ?

(1) Cortisol

(2) Aldosterone

(3) Both Androstenedione and
Dehydroepiandrosterone

(4) Adrenaline
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125.

frfafea #1 gafas Fifaw it g&t fawe

(a)

Sy (i) | smrmet e

(b)

STHH (i) | SRR

(c)

uiftfeafas @31 9o | (iii) | SR

(d)

S gig (iv) | 9T

126.

127.

128.

129.

(a) (b) ()
(1) @) (i1) (iii)
(2) (iv) (i) (iii)
(3) (iii) (ii) (iv) @)

(4) (i) () (iv) (iii)

dB T s Hehaler ¢ forem swam frafafaa 59
o w =t A 2ifyere & fa foran < 72
(1) @ faferse drgshmmeft

(2) Tt mem 8 Seifan 1 o\ e

(3) T fafers ygue

(4) foreht Gada & offax 9rn S aren garet 3oy
TH.3TE. Sl TehAl & foh 7w T TgH & A&
Y feamdt A€ -

(1) HepTHd AR & T SAfiTeh Tush s = 15 fei

& off &

(2) T8 Heh (Hel L IETaE e ShifSTeht 5 Haret shictl B
(3) T T 3T ot foremet wean # e 31 foamprage

i erfered st B
(4) V9 3chA TTEfReS R IPRd S TH U 30+

B 7
=514 =g g¢ (GFR) H fivree o X gt
gispgaTo B 82
(1) TEHer Tgen (Afgaes TeAer) 1 aifh SHY

et fHea
(2) v et (Fgw) = s sad ety fere
(3) TE ST RIS T Alfch ITY I et
(4) USHe Hica (Afugaeh dohe) 1 i a9

e feat
U ( 3ifige ) Joahe w1 &fd ug= o frfared
# J fFe wh & Tfod 89 T GYaa: FIE J9Te 6
T2 ?

(1) wifeEra
(2) TEErl
(3) TEreAfestm aon SreEgufuige SHi
(4) TgHfer

(d)
(iv)
(ii)

—
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130.

131.

132.

133.

134.

135.

Which one of the following statement is totally

wrong about the occurrence of notochord while

the other three are correct ?

(1) It is present through life in Amphioxus

(2) It is present only in larval tail in Ascidians

(3) It is replaced by a vertebral column in adult
frog

(4) It is absent throughout life in humans from
the very beginning

Given below is the diagram of a bacteriophage.

In which one of the options all the four parts A,

B, C and D are correct ?

Options :

A B C D
(1) | Sheath Collar Head [ Tail fibres
(2) | Head Sheath Collar | Tail fibres
(3) | Collar Tail fibres | Head |Sheath
(4) | Tail fibres | Head Sheath | Collar

Phyllode is present in :-

(1) Australian Acacia  (2) Opuntia

(3) Asparagus (4) Euphorbia

Which one of the following is a case of wrong

matching ?

(1) Micropropagation-Invitro production of
plants in large numbers

(2) Callus-Unorganised mass of cells produced
in tissue culture

(3) Somatic hybridization - Fusion of two diverse
cells

(4) Vector DNA- Site for t-RNA synthesis

A certain road accident patient with unknown

blood group needs immediate blood transfusion.

His one doctor friend at once offers his blood.

What was the blood group of the donor ?

(1) Blood group O (2) Blood group A

(3) Blood group B (4) Blood group AB

Secondary productivity is rate of formation of new

organic matter by :

(1) Decomposer

(3) Parasite

(2) Producer
(4) Consumer
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130.

131.

132.

133.

134.

135.

RIS (T53Teg]) & HISG e & Hay § frfafea

H & F T FHoF T TE T € et 9 A

wE 7?2

(1) mplsiag § g STsiad o= L&l &

(2) THifeTH § 78 Sae aral &1 Y5 H HeR e g |

(3) % Tigsh H 5He T T HESUE o 71 Blell
2l

(4) 9Ei § 9 foehd Y& | oot 9 Sfeenrel
H srufeerd g B

T Straryrst ot ot o man &)1 e 3 fosmedi

% ¥ f5g s & 9’ 91, A, B, C 991 D 3% &

™ ¥?

faeey -

A B e D
(1) |sm==r | iR e g g
) | = B HeX g g
(3) | =fer I8 ag Rk AR
4 |g=ag |9 IR | Hler
quity fored BT ® 2
(1) em=feaem embfern (2) efrafmn
(3) TETE™ (4) gmifsrn
frafafes & 4 s faem Toq ¥ 2

(1) Gewyaea - el o1 et e | e e
I

(2) o™ - S GauT # Saafed HifveRed &t
AT |

(3) T GO - 51 Tafay SRl %1 Hera |

(4) 99X DNA- t- RNA T G¥eio0 e |

He BIeH o fordl wen It =l foreent o wqe Arem

TE &, G RIS 1 SEvaehdl €| S6% T Sl

s 3 QU@ o791 W <7 1 el | 39 el Sl

T T R T T B ?

(1) @ 99 O (2) & E A

(3) T 998 B (4) T T8 AB

Tedtaer Scaeehar fordeh g1 74 w1afes veref s M

HI T F?

(1) TT=EH

(3) TSt

(2) ST
(4) U
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136

137.

138.

. Dr. F. Went noted that if coleoptile tips were

removed and placed on agar for one hour, the agar

would produce a bending when placed on one side

of freshly-cut coleoptile stumps. Of what
significance is this experiment ?

(1) It made possible the isolation and exact
identification of auxin.

(2) It is the basis for quantitative determination
of small amounts of growth-promoting
substances.

(3) It supports the hypothesis that IAA is auxin.

(4) It demonstrated polar movement of auxins.

Which one of the following in not a property of

cancerous cells whereas the remaining three are?

(1) They divide in an uncontrolled manner

(2) They show contact inhibition

(3) They compete with normal cells for vital
nutrients

(4) They do not remain confined in the area of
formation

Figure shows human urinary system with

structures labelled A to D. Select option which

correctly identifies them and gives their
characteristics and/or functions.

— Urinary bladder

(1) D-Cortex - outer part of kidney and do not
contain any part of nephrons

(2) A-Adrenal gland - located at the anterior part
of kidney. Secrete Catecholamines which
stimulate glycogen breakdown

(3) B-Pelvis - broad funnel shaped space inner to
hilum, directly connected to loops of Henle

(4) C-Medulla-inner zone of kidney and contains
complete nephrons
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136.

137.

138.

=1, wh. 9= 3 ffker e f af vz <a =

ST 39 U He o fou s § T =i ot SR

ek T Seq=1 M, FfS 38 1S e g iR =

$3h Wb SR T Teha ST | §6 9T o1 o/l Heeel

®?

(1) TR STERI 1 JYFHIT 3R Tl Te= Tre
el

(2) I% gfgucames Tgidf i wH A % HEHS
Trefeor =1 amER )

(3) T& TH UheaT 1 TALT =il & fF amE.uw
ST B

(4) T8 SRR 1 YT THA H U S

frefafes § 9 9 #9 @1 U @ew § S Sad

Fiferemati # 7 S, wo fF Im AT AR 2

(1) 378 srfrfa favrsm 2 @ €

(2) 379 G GHA B I S ©

(3) STMETTS Uroehi oy A HITITHTE WHI HiferahTed
Y yfeeast sA et §

(4) 3 o9 Fmior & § & wifaa 7@ s @t

feu mu o=t & AT & TA-GF B 3@ A T

& ol Sueht 9 wi=med A ¥ D w1 i fman

T %1 39 fashew @t gfe foud wd g @

YY) 39T Te fafersear s/ steran s =i <ramn

(Urinary bladder)

(1) D-hIeFa-gah 1 et W FSTEs JwhiH1 1 1e
fewmn =& dmmi

(2) A-sifgae Tfa(TEHa) - 99 & o R ™
Teerd, P eeRITUH 1= 1 S0 HLAT & S TEATZh IS
% I T eI w2

(3) B-gaeparvn (Afeaw) - fient (srgem) & i
FT T o =ieT FIIER EH, T i
Y yegel ®9 Y 9T A

(4) C-TrgeT-gaeh o1 sfiadt &1 Fored Squi i feea
2 T
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139. Select the correct matching of a hormone, its | 139. TH g, ST Sid ool ®E &t Fr=fafea §
source and function. forg v & Ot g T ® 2
Hormone Source Function T i Eae
(1) | Norepinephrine | Adrenal Increases heart beat, (1) AU | TEHE Agen | wed e veE g A
medulla rate of respiration and SR AT AT
alertness '
(2) | Glucagon Beta-cells | Stimulates @) |7 2 s T 1 Jfoe
of Islets of | glycogenolysis Sifehiati 7 [
langerhans CicieaINEa
(3) | Prolactin Posterior | Regulates growth of (3) | wfeRA v faegedt | wemed # wufaE ot
pituitary | mammary glands and 3fig e g4 Fto @
milk formation in &
females
(4) | Vasopressin Posterior | Increases loss of water “) EEEIR R K ha\agﬂ T &I SRl I B
pituitary [ through urine g B |
140. Which one of the following pairs of animals | 140. fr=fafes & | f&g = si€ & <+ & woh

141.

142.

143.

comprises 'jawless fishes' ?
(1) Guppies and hag fishes
(2) Lampreys and eels

(3) Mackerals and Rohu

(4) Lampreys and hag fishes

Thermococcus, Methanococcus and

Methanobacterium exemplify :-

(1) Bacteria whose DNA is relaxed or positively
supercoiled but which have a cytoskeleton as
well as mitochondria

(2) Bacteria that contain a cytoskeleton and
ribosomes

(3) Archaebacteria that contain protein
homologous to eukaryotic core histones

(4) Archaebacteria that lack any histones
resembling those found in eukaryotes but

whose DNA is negatively supercoiled.
How many plants in the list given below have
composite fruits that develop from an
inflorescence?
Walnut, poppy, radish, fig, pineapple, apple,
tomato, mulberry
(1) Two (2) Three (3) Four  (4) Five
An analysis of chromosomal DNA using the
Southern hybridization technique does not use :-
(1) Electrophoresis (2) Blotting
(3) Autoradiography (4) PCR
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141.

142.

143.

“aeT-fadh wsfemi € 2

(1) TTodt iR BfmeT

(2) o=t G 3

(3) Fahid a1 g

(4) St @ & few

B IFHT, FTHIFRT AN FgTa72iTq s

TR T ?

(1) Sframedi &, fs=ar DNA fofuer 2 ergan
THRIHS ®9 7 Afreq s ferd g s 7R 5w us
FIfTEER ST IR Y & AEEhivgar o°f B
?

(2) Stramefi &, s ¥iat Tt Fifrwmsra qo
TEerEr B €

(3) TR &, fome o W I S g =
Yehafhdl & hie-few & THed 8 ¢l

(4) eTRTsRRITE &, foeh offe T8 % fedq &t
B S ghafwdl | U 9 9 Rl % gum
1, Tg TS DNA ®umerh &9 ¥ sifisefea
B 7

2 TS g T E | o9 ATl §ufed we Rt

e F 2 € 2

(1) = (2) =

(3) =R (4) df=

o1 G5 SA-T % i # HeH Hento) asie

# o1 g T B ?

(1) SRIT 1 HeeH

(3) fafewwof fasor

(2) e
(4) di.4t.3.

www.aviral.ac.in




144.

145.

146.

147.

ABO blood groups in humans are controlled by
the gene I. It has three alleles — I*, 1 and i. Since
there are three different alleles, six different
genotypes are possible. How many Phenotypes
can occur ?

(1) Two (2) Three
(3) One (4) four
Which one of the following processes during

decomposition is correctly described ?

(1) Leaching — Water soluble inorganic nutrients
rise to the top layers of soil

(2) Fragmentation — Carried out by organisms
such as earthworm

(3) Humification — Leads to the accumulation of
a dark coloured substance humus which
undergoes microbial action at a very fast rate

(4) Catabolism — Last step in the decomposition
under fully anaerobic condition

Select the option which is not correct with

respect to enzyme action :-

(1) Substrate binds with enzyme at its active site.

(2) Addition of lot of succinate does not reverse
the inhibition of succinic dehydrogenase by
malonate.

(3) A non-competitive inhibitor binds the enzyme
at a site distinct from that which binds the
substrate.

(4) Malonate is a competitive inhibitor of
succinic dehydrogenase.

Which one of the following options gives the

correct matching of a disease with its causative

organism and mode of infection.

144. E § ABO T6 T8 o1 Fe=on i 1 g 2 2

145.

146.

147.

39 i Uil (grafashedt)— 14, 1B ar i @ §1

ifer 1 fat Vefe € safere =: fae Swrey 89

T HYTET BT § | STST el AeTuTaEy foha ol gehd

772

(1) = (2) =

(3) T (4) 7R

SIS & TR Hfed B aTel! shiH-§1 Ffshar 1 §et

Fofs o T ¥ 2

(1) e — Siat | Jersia SThE e qroe Jal
1 S Al 9 3 S

(2) EETH — B S Siai gRT B §

(3) TAET — 35 HIU TR U1 1 TG i ggHd
RT3 & Sl & Tord =g <t 1 | Sfranfoaes
srfufaan Bt ¥

(4) 399 — quid: STamaaEty aRfeefad § sToees
ifam =

Teed forean & wesl 7 sw faemen w1 g < e

2

(1) TorameR Tiee & 9fH e 9 Sg Wi B

(2) Jgd | TR STeH ¥ Wi SRR
1 Heie BRI WEHA ©eH el ol |

(3) T STfqEagicIs HSHA TASEH & 39 w&d
Y a1 & W FaeR & oA & e & e
]

(4) TEIE T SIegg sl ol Ush Uiaeasicieh
HTHT T

frfafea & 9 fog w fawe d§ w71, 39

SEFEHRT el 1 A1 we Hehav-fafly vt faemd ™

€2

. Causative Mode of
Disease : :
Organisms Infection
. & Bite of male
asmodium
n Malaria . Anopheles
vivax )
Mosquito
Salmonella | With inspired
@) | Typhoid . e
typhi air
X Streptococcus Droplet
(3) | Pneumonia ) . A
pneumoniae infection
Wuchereria | With infected
(4) | Elephantiasis :
bancrofti water and food
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i wermu fafy
) wHifegy | R UARe mest
T & HET
@ gregiAer | 9 g iR @
T STt TR e @
3) W§ Fo THAT
@ g Hehfid S 3R
FHTTTE CIEE R0
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148.

149.

150.

151.

A person entering an empty room suddenly finds

a snake right in front on opening the door. Which

one of the following is likely to happen in his

neuro-hormonal control system ?

(1) Hypothalamus activates the parasympathetic
division of brain

(2) Sympathetic nervous system is activated
releasing epinephrin and norepinephrin from
adrenal cortex

(3) Sympathetic nervous system is activated
releasing epinephrin and norepinephrin from
adrenal medulla

(4) Neurotransmitters diffuse rapidly across the
cleft and transmit a nerve impulse

Parts A, B, C and D of the human eye are shown

in the diagram. Select the option which gives

correct identification along with its functions/

characteristics:-

(1) D-Choroid - its anterior part forms ciliary body

(2) A-Retina - contains photo receptors—rods and
cones

(3) B - Blind spot - has only a few rods and cones

(4) C - Aqueous chamber-reflects the light which
does not pass through the lens

In humans, blood passes from the post caval to

the diastolic right atrium of heart due to :-

(1) stimulation of the sino auricular node

(2) pressure difference between the post caval and
atrium

(3) pushing open of the venous valves

(4) suction pull

Which one of the following pairs is wrongly

matched?

(1) Viroids - RNA

(2) Mustard - Synergids
(3) Ginkgo - Archegonia
(4) Salvinia - Prothallus

s
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148. TF AfF S & U @reft FE I & @ S

149.

150.

151.

Tierd & S ST Toh |9 3 FH o T S

AT, SH &79 SH T ARG [1H=10 01 T Foe:

1 B ?

(1) TENICTHE B AT &1 TUFHYT TR Wi
B S

(2) STIHER Rt o3 |l & o & fored Aga
Hieed ¥ TfmfteT qen T-ufmfeT fee &

(3) ST dfeht o Wik Bran & foed wfmfina
e TR-TAfR 1 UEHe Tgen ¥ fadem g

(4) TS it | ST 1 IR T S 3T TH et
3MET T T L

TFE 79 % =R 91 A, B, C 3R D em@ # g3y

M E | 9T T L IR o W91 SHh /A0

% foerea =1 g .-

(1) D- TorTeh 92 (HIUSS) FHRT ST 91T J&HTY
T ST E |

(2) A - e - geRTERIE-vEmEH (W) iR v
(FH) B 2

(3) B - 34 - foig 30 St vremhnd 3iR ¥k A T |

(4) C - SIefd & - 39 W11 1 Fafca L ol
TS o | ST TSR e U ¥

TR B, TR 61 Iv HRIR | 9, srferfeer e

sifeg T =1 UgeT fheeh R0 B ¥ ?

(1) foru- sifeg e =1 3tse

(2) TX9 HRIRW a1 ifeig & o= & g W

(3) fRru ares 1 YERT ST Gl ST

(4) 9o fg=ma

frefafea § S & Sigl Taq e @

7?2

(1) 9RAEEH - RNA

(2) |LH - HEE Hifrend

(3) = - e

(4) Tfeat=n - mdew
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152. The correct floral formula of chilli is =

(1) @SKsCAG, () &d Kﬁ,cfs,A G

5={2)

(3) K CoAsG: () &S K.EAG,

In a population of 1000 individuals 360 belong
to genotype AA, 480 to Aa and the remaining 160
to aa. Based on this data, the frequency of allele
A in the population is :-

(1) 0.4 (2) 0.5

(3) 0.6 4) 0.7

Yeast is used in the production of :-

(1) Bread and beer

(2) Cheese and butter

(3) Citric acid and lactic acid

(4) Lipase and pectinase

153.

154.

155. Identify the likely organisms (a), (b), (c) and (d)
in the food web shown below :
hon
owls foxes snakes = ks
arden/"
hzard
grass
m“;e\ (b) hopper Sparrow
Vegetat:on/seecls /
Options :
ORNORNONNC
(1) | rat dog | tortoise | crow
(2) | squirrel | cat rat | pigeon
(3) | deer | rabbit | frog rat
(4) | dog |squirrel | bat deer

156. Which of the following criteria does not pertain
to facillitated transport ?

(1) Uphill transport

(2) Requirement of special membrane proteins
(3) High selectivity

(4) Transport saturation

The cell-mediated immunity inside the human
body is carried out by :

(1) Erythrocytes

(2) T-lymphocytes

(3) B-lymphocytes

(4) Thrombocytes

157.
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=

152, frd madi qu gA | R ?
(1) (-Bé K(S'C A‘g*" @) ('BSSKmC{(.::Asgm
3 OK,CohaG: @ @Sk MG,
153. 1000 =Aftedl =t gufe § 360 SHAUET AA, 480
Aa 3R 99 160 aa & TG AT &1 39 STHS &
YR T A Teliel i gfa 39 gufte § grft -
(1) 0.4 (2) 0.5
(3) 0.6 (4) 0.7
154. == o1 39A frgs Saaeq #§ fFar S & 2
(1) 5Ig q91 S
(2) TR a1 HeREA
(3) arEfew o qon fes ond
(4) TEYS qAT TR
155. <= fo@md =1 ® @/ 9 H° (a), (b), (c) 741 (d)
Sty F41 & Wehd €, TS -

T
il
Torpey

(@ [ () | () | ()

(1) | == | =@ | wgen | @en
(2) | freedt | foeeft | =@ | FEX
(3) | fem |wwiwr | HWew | =@
(4) | = | freed | fawmes | fow

156. fr=fafed & ¥ wFa greve Faifya A= &
grary TE e © 2

(1) e Afrm

(2) fafsrse sen Wi &1 avFehd

(3) =3 =g

(4) SPTTR dgea

e YRR H wiferewr-Aifead gftan feweh g
Ao Bt © ;

(1) THIeH 5

(2) T-fomprargel gr

(3) B-fermpmmsel g

(4) grweETgel gr

157.
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158.

159.

160.

161.

162.

163.

Injury localized to the hypothalamus would most

likely disrupt :

(1) short - term memory.

(2) co-ordination during locomotion.

(3) executive functions, such as decision making.

(4) regulation of body temperature.

Elbow joint is an example of :-

(1) Ball and socket joint

(2) Pivot joint

(3) Hinge joint

(4) Gliding joint

The diagram given here is the standard ECG of

a normal person. The P- wave represents the :
R

MAL/LA

(1) End of systole

(2) Contraction of both the atria

(3) Initiation of the ventricular contraction

(4) Beginning of the systole

Which one of the following is not a correct
statements ?

(1) Key is taxonomic aid for identification of
specimens

(2) Herbarium houses dried, pressed and
preserved plant specimens

(3) Botanical gardens have collection of living
plants for reference

(4) A museum has collection of photographs of
plants and animals

The common bottle cork is a product of :-

(1) Xylem

(3) Dermatogen

(2) Vascular Cambium
(4) Phellogen

A man whose father was colour blind marries a
woman who had a colour blind mother and normal
father. What percentage of male children of this

couple will be colour blind ?

(1) 25% (2) 0%
(3) 50% (4) 75%
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158.

159.

160.

161.

162.

163.

BRNEHY ek Hifia &fd gvad: f fafea 7 9
form w =1 faufen &EM 2
(1) @g-ifer wfa
(2) T | gH=ET
(3) FEER wrE, S o o o
(4) IR & A9EE F1 A
Hret dfY e YRR w1 G 1 S § 2
(1) FgH Gfeerh Gfy
(2) Y |y
(3) fe= wfy
(4) fordor wfy
T U W AT 1 Ak 3 6. (e egera)
o1 SR feam T & | - (Faa) F g §?
R

uAs_/LA

(1) T = T HATH

(2) ST srfei Hpf & @ €

(3) e & Heped &1 SR & W@ )

(4) TR T ST

frefafed § @S9 o HuF wd T8 & 2

(1) Fst T 1 Te= & g T afient were
gl

(2) IeUEE | YR, 99 fd T afiafaa aey
T 2B ¥

(3) ameafaes 3am, gy & fo Sifaq wed @
TR T

(4) TURIE, Tedl iR Sgedl 1 a1 SIe
7l

e SR 3 S S S S fRgenT S € 2

(1) <& (2) Herea wEn

(3) SHIASH (4) HelrsH

TF 77 Foert fiar guii-erar @ ufaa o we W

it & foare star & foment A g~ & ufaw 3it

fia | ¥1 39 gl & TR e b foRan e

U= 2 ?

(1) 25%

(3) 50%

(2) 0%
4) 75%
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164. Study the pedigree chart given below :-

165.

166.

Glucose — | Pathway A [-52-3] Pathway B [26

167.

1 ]

ﬁ@h

What does it show ?

(1) Inheritance of a recessive sex-linked disease
like haemophilia

(2) Inheritance of a sex-linked inborn error of
metabolism like phenylketonuria

(3) Inheritance of a condition like phenylketonuria
as an autosomal recessive trait

(4) The pedigree chart is wrong as this is not
possible

In an area where DDT had been used extensively
the population of birds declined significantly
because

(1) cobras were feeding exclusively on birds
(2) many of the birds eggs laid, did not hatch
(3) bird stopped laying eggs

(4) earth worms in the area got eradicated

The three boxes in this diagram represent the three
major biosynthetic pathways in aerobic respiration.

Arrows represent net reactants or products.
910

Ly

Pathway C

->7

-\’s[

<7

Vs

4 3
Arrow numberd 4, 8 and 12 can all be :
(1) FAD* or FADH,
(2) NADH
(3) ATP
(4) H,O
In humans, at the end of the first meiotic divison,
the male germ cells differentiate into the:-
(1) Spermatids
(2) Spermatozonia
(3) Primary spermatocytes

(4) Secondary spermatocytes
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164. = fed =1 W@ denae = &1 37E9T Hifeg ?

165.

166.

R —>

167.

\

m@m

IE 1S 41 <01 © 2

(1) U 3w fef-gger A i Semifa Sy f
HuiEane el

(2) U ToT-geer= S=Ieid SUTq=d S 1 a9
33 fF BTEERRRE #

(3) & Al et fagios (22) & w9 #
TR ITSCTh [ TSI T2 i Semfa

(4) I% SRS =1 T &, Ftfer TH 2 &t el wehal

T U@ &9 T, 598 DDT &1 9IS =19 &9 | 3%

foran T o, =Y % uferEl @ SATEEt Sgd 8 Sl

iR =it | e gaferg gen =i

(1) AT | faw qferdi &1 & H9ieH wd ® 9

(2) uferi g e 712 wiga 9§ 721 & ood IR e b

(3) uferdi 3 @72 S Wig H fe

(4) 39 & | Syl F1 gEia & T

s | 53 7T < e i T S e Anih]

=+ FEfug =3 &1 9101 (Arrows) T USRS

71 3 I Frefud & € .
5 910
EA 23 WEB FS—Y "WEC (> 1
D -\’s \’12
4 3

4, 8 3R 12 | Qe oo, Tt 7 & T €2
(1) TF. TEI" 9 UF.CELTH, (FAD+ A FADH, )
(2) LS. (NADH)

(3) T3 4. (ATP)

(4) H,0

AE! H, G ST fa9Ts & 91g 7 S hiTerehTd
fras w9 § fadfea & 5t € 2

(1) TITY

(2) TS

(3) Wt FRISHTILST

(4) Toita TIshTISH
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168.

169.

170.

171.

172.

The eye of octopus and eye of cat show different

patterns of structure, yet they perform similar

function. This is an example of :

(1) Analogous organs that have evolved due to
divergent evolution

(2) Homologous organs that have evolved due to
convergent evolution

(3) Homologous organs that have evolved due to
divergent evolution

(4) Analogous organs that have evolved due to
convergent evolution

The H-zone in the skeletal muscle fibre is due to:

(1) extension of myosin filaments in the central
portion of the A-band

(2) the absence of myofibrils in the central
portion of A-band

(3) the central gap between myosin filaments in
the A-band

(4) the central gap between actin filaments
extending through myosin filaments in the
A-band

Select the correct statement from the ones given

below with respect to Periplaneta americana :-

(1) There are 16 very long Malpighian tubules
present at the junctions of midgut and hindgut.

(2) Grinding of food is carried out only by the
mouth parts

(3) Nervous system located dorsally, consists of
segmentally arranged ganglia joined by a pair
of longitudinal connectives

(4) Males bear a pair of short thread like anal
styles

The Golgi complex plays a major role :

(1) in post translational modification of proteins
and glycosidation of lipids

(2) in trapping the light and transforming it into
chemical energy

(3) in digesting proteins and carbohydrates

(4) as energy transferring organelles

You are given a fairly old piece of dicot stem and

a dicot root. Which of the following anatomical

structures will you use to distinguish between the

two?

(1) Secondary xylem (2) Secondary phloem

(3) Protoxylem (4) Cortical cells
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168.

169.

170.

171.

172.

SHTERITE & 97 a1 foee & A7 i e 1 YA
ST 7, TORL off 3 0 &1 3 § | 98 a8
¥
(1) THGT 371 &1 1 STUER foehTd & Rl faesiaa

WE
(2) TSI 377 oh1 < ST ErT faemd & &R fasfag

T
(3) TSI 377 1 Sl ST foehr = o faskfaa

TWEI
(4) Trgfa et it Afvrard faepma & oo fasfaa

TWE

el J-T9 H H-&5 1 HRI B ¢

(1) A-Tg1 & =it ot 3§ i dgail o faer )

(2) A-TZt & S am & qEEEtTE w5 e |

(3) A-Tg! ¥ rRTEA dgsit & i o1 st STe |

(4) A-wgT # i el § | St el 3T Ufeed
Tgel @ o= T BT ST

WReiHer sk w8, frafafe § & adt

HYT B ¥, IAT -

(1) HeATs q91 9v=d & Wiy e W 16 9ga
-t Herdiet Afererd Bt

(2) HISH 1 991 S Shael GE-9T g’ & ard
g

(3) gsaa: feera dfsren o3 § wew: =afied e
(feeRnd) B & I U - Se eTga e HasHi
U CRCR RS

(4) T # T SISt SIS M S T Y o T

Tiiestt Wiy Tq@ et 31T I ©

(1) T & TYar ST & wiave 3 qen fafet
& TSIy |

(2) W1 & Sfavioor § qon 3§ yHEfe e |
9q A H

(3) WIEHT iR FEleRSel & =

(4) Fe1l o TFIARIRR] 37T & &9 H

391 Tk feaitsrast @ 3R ok fasferostt s & &t

W gRS R T ¥ ama S O i W fg

Frefafea § & w1 @t yRifes SwEmet &1 s

4 ?

(1) fedit=r <&

(2) fgfaa= dvare
(3) efeerE i

(4) SEHe FINERE
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173.

174.

175.

176.

177.

Which of the following statements is not true of
two genes that show 50% recombination
frequency ?

(1) If the genes are present on the same
chromosome, they undergo more than one
Crossovers in every meiosis

(2) The genes may be on different chromosomes

(3) The genes are tightly linked

(4) The genes show independent assortment

Select the correct option :-
Direction of | Direction of reading
RNA of the template
synthesis DNA strand
(1) 33 3—35
(2) 3'—5° 5'—3’
3) 5'—3° 5'—3°
4) 3'—5° 35

The logistic population growth is expressed by
the equation :
N-K

(1) dN/dt = N (T]

K- N]
K
)
(3)dN/dt =N | ——
K

(4) dN/dt = N

Which one of the following is wrong statement?

(1) Phosphorus is a constituent of cell membranes,
certain nucleic acids and all proteins

(2) Nitrosomonas and Nitrobacter
chemoautotrophs

(3) Anabaena and Nostoc are capable of fixing
nitrogen in free-living state also

(4) Root nodule forming nitrogen fixers live as
aerobes under free-living conditions

(2) dt/dN = Nr [

are

In the human female, menstruation can be
deferred by the administration of :-

(1) FSH only

(2) LH only

(3) Combination of FSH and LH

(4) Combination of estrogen and progesterone
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173.

174.

175.

176.

177,

3 S S 50% gt ergfa gt € s fan
frefafed waa § 9 SiAa 9 781 8 ?

(1) afg <9 T & P W foemm @ 3 10w
S favrem 3 ws @ siftres ar fafafha gt
gl

(2) S =1 TR W F weRdl §
(3) S Ao ¥ G (Hee)E |
(4) 9 A= STISE Swidl B
el fasheq =1 =97 &+ -
INTAC & | I@ie ST
gyawor &t | @t @ GfET =t
fewm fewm
(1) g 55"
2) 3§ 5.4
3) 5.3 5—3
(4) 35 g5

e sHae gig i fg Tt § sifies
foFan ST ® 2

=
(1) dN/dt = N N
vy
(2) dt/dN = Nr K
5
(3) dN/dt = N K

(4) dN/dt = TN

frafafed § ®F-W T %99 Toa ® ?

(1) iR st fafee, 5 =fwre snal qa
oft 9 1 Tk T B

(2) TG A Ay TETEd! 8 &

(3) TTEIT A FelE WaA e H ot g
feeriepao & 99 2 ¥

(4) T UfIeRT a9 9Tt Agee el @
sraeensl A Srgeifadl 1 we ® €

g 911 §, W 9 ) fFges fou o & o it

QAT 7 Hohel &7

(1) FSH %aa

(2) LH %aa

(3) FSH @21 LH 1 HaeH

(4) TEISH T Gl 1 FdeH
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178. The process by which organisms with different
evolutionary history evolve similar phenotypic
adaptation in response to a common
environmental challenge, is called :

(1) Adaptive radiation

(2) Natural selection

(3) Convergent evolution
(4) Non-random evolution

179. The figure shows a diagrammatic view of human
respiratory system with labels A, B, C and D. Select
the option which gives correct identification and

main function and/or characteristic :-

178. =@ ufsha, f5weh g fu=1 faspmy sfoem et sfa
T HHM TETERuE A o SeTe # HHM THEs
ST faemfam & €, el < €

(1) sT3HRel fompiom

(2) IThfcR S

(3) stfirardt faer

(4) i+ fawm
179.

o § A yaEA-a3 1 U SIRE 9 9 T
& o 9’ A A, B, C @R D fRg U 81 o
1 TE UEEH & IY-TY SHh T Hrd /19
fafereear & fasrew =1 g :-

(1) D - Lower end of lungs — diaphragm pulls it
down during inspiration

(2) A—trachea- long tube supported by complete
cartilaginous rings for conducting inspired air

(3) B - pleural membrane - surround ribs on both
sides to provide cushion against rubbing

(4) C — Alveoli - thin walled vascular bag like
structures for exchange of gases

180. In cloning of cattle a fertilized egg is taken out

of the mother's womb and :-

(1) From this upto eight identical twins can be
produced

(2) The egg is divided into 4 pairs of cells which
are implanted into the womb of other cows

(3) Inthe eight cell stage, cells are separated and
cultured until small embryos are formed
which are implanted into the womb of other
COWS.

(4) In the eight cell stage the individul cells are
separated under electrical field for further
development in culture media
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(1) D — ®wel &1 freen fau-siqvee & SrH
SEATHE 30 A9 #1 W i o g

(2) A — YATEACA-TT9 & WY i &t S aref 9
% ToTu Tk et et 51 = ol o S aeai
g forlt g8 3§

(3) B — HH- fereet- e s oo o SR et
Toreett aifer v A a=m & fore 7T wem L T |

(4) C — it - 75 & fafa & forg yaet fafa
et Heret HEA |

TafeEt & g & w fufed o = O TS

% T4y 9 et -

(1) STY N8 A= S[ean se Ue1 o = gehd § 1

(2) 39 319 I 4 St witrensi § fawfea foran
ST & Tore a1 It & ity faiifua e
fe=n < 1

(3) ST 3773 Hif¥TeRT oTerEer |, HIf¥ThIeT FI guw
o ST SR 3 BB YU I ah Hae
o T e & forereh og 3% 1= Tt & e
T ofeifya = fean s 1

(4) ST TS THITSTHT TaEe |, FifeTehTet 1 faga
gftaeT § gus T fean S € oK 368 & &
gftgds dada wream § faran s €1

180.
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